6.900+,j1.196
5

—1—1.02045.5 0.980+,j0.287 0.900+,j0.155 0.820+,j0.150
1.100£-0.6 G20 G21 G22 ) )
w w 4.522-j0.224 4.533-j0.040
kS \ 2 1.020£3.0 —— T 1.020480 —F— 1.020£2.9 P P
vi « |23 < <
=] =13 1093228 | L 1099204 | 1.0952-2.6
bt b e
R A5 W 0.980+0.183  40.900+j0.034 1.020£19.1 1.091210.8
= 1.000+,j0.235 Y 0.820+j0.070 1.091£7.7
= y 0.980+j0.183  30.898+0.071 1= 1.000+,j0.443 A
w IS = ) [ )
S v & 1.020£-13 - = 3 1.099.28.9 0.200+,j0.050<—0.240+j0.219| ©
s =~ |2 S I ~ |3
Yz 13 5.382-10.453 5.422+0.396 vl 3 P 2.678+,j1.124 0.560-+0.021 o B
= 3 = 0.218-j0.155  0.218-j0.307 < < s © 2 < B < B 2 1.096 £16.1
= < < Y 2.678+0.719 1.036.£6.5 10452118 T A
2 ( | Nl 1.086 £6.3 = 7 1.020£13.9 0.558+j0.040 3
s 1.090£-9.8 = 1.0842-9.5 W 1.878+0.255 1.020£16.6 < S I 1.500+,j0.494
2 ° 3.847+0.133 I - - “ A
1.0324-14.4 v 3 /YN 1020450 oy 1.074£-3.1 < ! 2 i3 S A1.097210.8 < S 1.020£21.5
=] = y 2 EX S 7.747+j2.031 0.500+,j0.215 0.942-j0.143 ol
2.450-,j0.500 B = -0.800-,j0.367 - " . 4.576-j0.561 = 3 =] - N =
S (G24)0 900+j0.230 » x % & < = S 2 G10 2.000+,j0.040 < © A = |-
. " L E R £ 24
. ¢ X 2 I ¢ ) X 2
1.020£0.6 . 3 A . 3 A L~ £ = . . [ 7.747+j0.640] 1.020.£20.8 S
1.600}i0.081 2 0306+0.090 0306-0.057 F 5.100+j0.169 |13 s Y 50.635-0.232  0.635-j0.298 vy 8 1.025215.6 1.094 £20.4 1.098 £23.1
> 3 < < = - = © ‘ 3 < 1.500+,0.493 <{ 2.200+,j0.602
v o 3 5.075-j0.365 A 1.020.£20.6 w | 0.699+j0.209
1.600+,j0.208  1.099/-9.8 = - 1.084 2£-5.6 1.081£-5.1 - 4.232+0.621 0.600+,j0.050 < s ¢ < G2
&~ 1.081Z-145 1.082£-14.1 < G171) 4232+1.487 o 1225401444 0.700-j0.145
- v s 1.049£-19.4 /Y o 7Y 1.02043.8 1.061£-13.7 1.180-+0.546 v B 1.020£29.4
=Y [ < v 1.097£9.6 10202263 0.324-j0.051 g
N ~ | = - 23 2.600-,j0.701 —— 1.0214-1.7 0.324-j0.100
= ° b 5.500+,j0.010 | 3 5.066-10.331 5.121+j0.283 0.500+,j0.295 ( G6 > v
3 A I & < < A | 180+j0.633 ‘ cl
< S ¥ = 0.558+,j0.166 < 1.05221.0 1.054/5.2 1.000+,j0.340<— - >
S 5.104-j0.820 1.015218.8  0.824+j0.027 S
S 1.070.£-20.0 o~ 1.183+0.688 3.483-j0.262 10314261 =
= 3.500+,j0.282 o 0.786+j0.013 *
. L &S 3.500-j0.045 2 >
B T 10334247 = 4.864-0.113 1.070£-13.6 2.300-,j0.950 1.020£10.5 é’ .
& y= S Y Ao 4.197+i0.022 SA o 10.78650.029 An
S o |2 _E_ — R < 1.020 £40.8 52 % &
v 3 3|3 1.070£-21.3 4.813-j0.633 5 1.050£-15.8 o A® o |3
3|3 8.500+0.629 = 2.000+.i0.771@_% o = Y
S B = 2 +
w 2 Y —T— 1.032£-27.2 21> ? S os0s268 =T
1.230+,j0.278 3 = 1.021£-26.8 9 \ Y 1.800+0.413 0.500+,j0.400 < =] 3
2y . 10.000-,j0.024 = 1.042/33.5| ®  0.706+0.031 1.093 £25.0
G28) ©° YN 7.300+,1.540 3 1.0452-17.1 1.029/-15.7 = -
0 - 1.020£-21.3 1.083 £-13.1 - 1.020£-6.4 A
1.020£-138 —— < v °© (G2o 0.200-j0.130 0.751+j0.000 2
o w 0.500+,j0.030 <70.467-j0.030 | S
1.098 £-20.2 e 4.600+,j1.401 1.043 4167 —T— 3 1.800+j0.370 0.200-j0.123 - o o o
1.083£-22.4 A% 2.100+,j0.426 [ 3 P& N
A 2.900+,j0.162 | = —> 2.000+,j0.240 A A 3 Sy 3\
1.133.£-30.3 9 1.900+,j0.200 = =) =a v 4
I T 1.0654-323 b 3 S S| S
1.400-,j0.790 1.039.£-22.1 3.968-j0.724 3.985-j0.513 > ~ © A 31.039433335
w - 1.900+,j0.370 < < 1.020£43.6 < i 1.093 £35.2
I = w 0.305-j0.039 -
5 v A 0.099+0.173 3 A > > % : A2
=] S % 2.500+,j1.062 0.304+0.045 =
= 8 =4 2.952+0.152 1.000+,j0.020 <50.493-10.037 | S
= °‘ & 1.500+,j0.800 < - N
A 0.100-j0.864 - 10432375 | o 2] s N
| 1.018£-21.7 1.092£-10.7 1.083£-6.1 2 7 TA
1.858-0.773 v AS ERRS =
w - 1.800+,j1.000 1.353-j0.292 o 0.600-,j0.630 =] 8|3 =
I = — < 1.052£-15.6 L020£173—— S4 1.09927.8 3 TS > 1.094 £42.6
V3 v e 1.020£-11.8 v > 3.635+0.766 ‘ *° "
=] = G30 4.800-,j1.245 A 2.942-j0.278 N G16 = < < G14)3.640+,j1.369 0.500+,j0.010 < 3
Q2 3 o @ o 3.640+j0.825 | < | P A3
© * 1.900+,j0.472 ' 2.800+,j1.023 2 1.020£15.7 - 1.109-j0.003 | 3
1.093 £-22.7 A 2955+{0.017 = 2 0.062-j0.067  1.040/38.4 =
B = 4.461-j0.004 4.480+j0.204 o |
2.440+,j0.248 = 2 < < ®
1.055£-28.3 b \ =X 3
1.020£-45 A 0.515-j0.014 =
3.700+,j0.900 y 13500.232 1.100£-7.5 1.09226.4 1 1098299 5
A Yy
0.515-j0.017 A 4 0.415-j0.667 4 3.378-j0.446 f 2.040+0.216 1.100£48.8
1.095/-12.2 1.024 21.1 1025225 —t— 1.020£21.2
i~ 1.0522-91 Y Y 1.0204£55.9
2.100-,j0.800 0.450-,j0.100 0.550+,j0.071 G15
TT1.013£-15.7 1.020£0.0 1.020£11.3 G1
< < 4.480+,j1.110
1.488-j0.012

1.350-,j0.320

Notes :

G18 G17

Swing Node Q Q
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1.490+j0.009

(1) All lines in this figure represent 2 circuits of 3-phase transmission line. Load flow data represents the amount of 2 circuits.
(2) The unit is 1,000MVA base p.u.

Fig.4.3(a) IEEJ EAST 30-machine System Model (Load Flow Map :

3.800+,j0.599

Daytime Condition)



